111118 STAN's LAN.LOG

D^ M^ Y ?

RUN

DD.MMYYYY=* ?

 25.1219720 RUN
TDT-UT=43.3 S?
RUN

UT=0.00 H.MS ?

 22.0 RUN

NO ROOM     

RUN

XROM "LAN"

LT.CCCSS 1=

 1.0000000 RUN
LT.CCCSS 2=+-

RUN

RTY.cddSS= 0 ?

RUN

LT-UT = 0.00 H.M ?

RUN

HE=+FT ,-M ?
 6.00 RUN
ALT=+FT,-M?

RUN

Te CENT=

RUN

Te FAR=

RUN

P Mb=

RUN

P IN HG=

RUN

UT^ H+L-U 1 ?
 21.5905000 ENTER^
 77.3800000 RUN
WHICH BODY ?

SUN RUN
"SUN"

UT^ H+L-U 2 ?
 22.0205000 ENTER^
 77.4410000 RUN
UT^ H+L-U 3 ?
 22.0405000 ENTER^
 77.4680000 RUN
UT^ H+L-U 4 ?

 22.0605000 ENTER^

 77.4830000 RUN

UT^ H+L-U 5 ?

 22.0725000 ENTER^

 77.4870000 RUN

UT^ H+L-U 6 ?

 22.0740000 ENTER^

 77.4870000 RUN

UT^ H+L-U 7 ?

 22.0750000 ENTER^

 77.4870000 RUN

UT^ H+L-U 8 ?

 22.0805000 ENTER^

 77.4870000 RUN

UT^ H+L-U 9 ?

 22.0905000 ENTER^

 77.4840000 RUN

UT^ H+L-U 10 ?

 22.1105000 ENTER^

 77.4710000 RUN

UT^ H+L-U 11 ?

 22.1327000 ENTER^

 77.4410000 RUN

UT^ H+L-U 12 ?

 22.1605000 ENTER^

 77.3890000 RUN
UT^ H+L-U 13 ?

RUN

N/S TRANSIT?

S RUN
*U/L CULM?

RUN

d.POS=1.7 NM

SUN LTT=22.07457 H.MS
RUN

OBS LAT=S 11:24.9
RUN

OBS LON=W 151:50.0
RUN

SQRT
d2/N=0.0 NM
RUN

VALID+/-0.18 H.M a C T
RUN

UT SPAN(21.49- 22.26)
RUN

e.T'/e.H'<=3.1
RUN

EST LON ERR 0.1'
RUN

UPDATE: Y/*N?

Y RUN

POS. UPDATED
